
Dôkaz pomocných tvrdeńı:
t1:A ∪ ∅ =(e2) A ∪ (A ∩AC) =(c1) A
t2:A ∩ U =(e1) A ∩ (A ∪AC) =(c2) A
t3:A ∪ U =(e1) A ∪ (A ∪AC) =(a1) (A ∪A) ∪AC =(p2) A ∪AC =(e1) U

Prvá časť dôkazu:

AC ∩ BC =(t1) (AC ∩ BC) ∪ ∅ =(e2) (AC ∩ BC) ∪ [(A ∪ B) ∩ (A ∪ B)C ] =(d1)

[(AC ∩BC) ∪ (A ∪B)] ∩ [(AC ∩BC) ∪ (A ∪B)C ] =(e1) ([U ∩ (BC ∪A)] ∪B) ∩
[(AC ∩BC)∪ (A∪B)C ] =(t2) [(BC ∪A)∪B]∩ [(AC ∩BC)∪ (A∪B)C ] =(b1+a1)

[(BC∪B)∪A]∩[(AC∩BC)∪(A∪B)C ] =(e1) [U∪A]∩[(AC∩BC)∪(A∪B)C ] =(t3)

U ∩ [(AC ∩BC) ∪ (A ∪B)C ] =(t2) (AC ∩BC) ∪ (A ∪B)C

Čiže sme dostali AC ∩BC = (AC ∩BC) ∪ (A ∪B)C .
Aby to platilo, muśı platǐt: (A ∪B)C ⊆ AC ∩BC .

Druhá časť dôkazu:

AC ∩ BC =(t2) (AC ∩ BC) ∩ U =(e1) (AC ∩ BC) ∩ [(A ∪ B)C ∪ (A ∪ B)] =(d2)

[(AC ∩BC)∩ (A∪B)C ]∪ [(AC ∩BC)∩ (A∪B)] =(d2) [(AC ∩BC)∩ (A∪B)C ]∪
[(AC∩BC∩A)∪(AC∩BC∩B)] =(b2+a2+e2) [(AC∩BC)∩(A∪B)C ]∪(∅∪∅) =(p2)

[(AC ∩BC) ∩ (A ∪B)C ] ∪ ∅ =(t1) (AC ∩BC) ∩ (A ∪B)C

Čiže sme dostali AC ∩BC = (AC ∩BC) ∩ (A ∪B)C .
Aby to platilo, muśı platǐt: (A ∪B)C ⊇ AC ∩BC .

A teda:((A∪B)C ⊆ AC∩BC)∧((A∪B)C ⊇ AC∩BC) ⇒ ((A∪B)C = AC∩BC)
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